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@ 1.Heart of Algebra N

1.1 Interpreting Linear Functions

Equation of a line: y = kx + b where k is the slope, b is the
y-intercept.

The constant k tells for each unit change in x how much
y increases or decreases.

The constant b represents some starting value fory or
some initial condition.
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@ 1.1 Interpreting Linear Functions—‘

1. Salim wants to purchase tickets from a vendor to watch
a tennis match. The vendor charges a one-time service
fee for processing the purchase of the tickets. The
equation T= 15n + 12 represents the total amount T, in
dollars, Salim will pay for n tickets. What does 12
represent in the equation?

A. The price of one ticket, in dollars

B. The amount of the service fee, in dollars

C. The total amount, in dollars, Salim will pay for one ticket

D. The total amount, in dollars, Salim will pay for any number of
tickets
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@ 1.1 Interpreting Linear Functions—‘

2.In air, the speed of sound S, in meters per second, is a
linear function of the air temperature T, in degrees
Celsius, and is given by S(T)=0.6T + 331.4. Which of the
following statements is the best interpretation of the
number 331.4 in this context?

A.The speed of sound, in meters per second, at 0°C

B.The speed of sound, in meters per second, at 0.6°C

C.The increase in the speed of sound, in meters per second, that
corresponds to an increase of 1°C

D.The increase in the speed of sound, in meters per second, that
corresponds to an increase of 0.6°C
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@ 1.1 Interpreting Linear Functions_‘

3. At a restaurant, ncups of tea are made by adding
ttea bags to hot water. If T = n + 2, how many
additional tea bags are needed to make each additional
cup of tea?

A.None

B.One

C.Two
D.Three
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@ 1.1 Interpreting Linear Functions—‘

4. y=19.99 + 1.50x

The preceding equation models the total cost y; in
dollars, that a company charges a customer to rent a
truck for one day and drive the truck x miles. The total
cost consists of a flat fee plus a charge per mile
driven. When the equation is graphed in the x y-

plane, what does the y~intercept of the graph represent
in terms of the model?

A.A flat fee of $19.99
B.A charge per mile of $1.50

C.A charge per mile of $19.99
| D.Total daily charges ~f $21.49
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Total Protein and Total Fat
for Eight Sandwiches

Total fat
(grams)
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@ 1.1 Interpreting Linear Functions—‘

6. In respect to the given information, the function h,
defined by h(t)=at + b, where a and b are constants,
models the height, in centimeters, of the sunflower after t
days of growth during a time period in which the growth
is approximately linear. What does a represent?

A.The predicted number of centimeters the sunflower grows each day
during the period

B.The predicted height, in centimeters, of the sunflower at the
beginning of the period

C.The predicted height, in centimeters, of the sunflower at the end of
the period

D.The predicted total increase in the height of the sunflower, in
centimeters, during .2 ouricd

I N S e W TR — TS e i e R AT



£
lkooleQrn e www.koolearn.com
A AR P 1E 2k

@ 1.1 Interpreting Linear Functions_‘

US Production of Plastic
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@ 1.1 Interpreting Linear Functions—‘

9. An archeologist estimates that, as a result of erosion,
the height of the Great Pyramid of has been decreasing at
a constant rate since it was built, The function above is
used by the archeologist to model the height h(t), in feel,
of the pyramid t years after it was built. According to the
following statements is true?

A.Every 1,750 years the height of the pyramid decreases by 10 feet.
B.Every 175 years the height of the pyramid decreases by 0.1 foot.
C.Every 100 years the height of the pyramid decreases by 1.75 feet.
D.Every year the height of the pyramid decreases by 175 feet.
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@ 1.1 Interpreting Linear Functions—‘

10. The boiling point of water at sea level is 212 degrees
Fahrenheit (°F). For every increase of 1,000 feet above sea
level, the boiling point of water drops approximately
1.84°F. Which of the following equations gives the
approximate boiling point B, in°F, at h feet above sea

level?

AB =212 — 1.84h

B.B =212 — (0.00184)h
C.B =212h

D.B = 1.84(212) — 1,000h
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